A

o
R

i)
oo
ofx
i
r

HENEAQ.

@)6 : 3 9 AFT FFol 02 Fotol= v e R
@ 4:69] 1|9 Ft2 8:129] ]9 it FHych

@)2: 59 Al 38 Bl H]2] groli= W] gt
@ 4:79) A3} FPol| 28 Lol vl e T

® 3:99] o] ke 1:39] u] <] ZHat 25U




o % U9 G0l o ¢ oo 9 HHE A ol QA 12N
1.1
D 5:8 @ 10:16 @51—
@ 20:32 ()48 : 30
1 1 (1 1 ) 5
—:—=|—X%Xx80: —x%x80)] =5:8=—
16 * 10 16 10 8
5
D5:8 5
5
@10:16:5:8:g
1 1 5
—=_-=5:8=12
®8 5 8
5
@20:32—5:8:§
8
@48:3028:5:5




3.

ok HE Ao A [ ot ke £2 EAQ
3%;4.5:D;0.5

7 17 45 9
by Wy ©9fx 943

B

W] &3 o] H2 52 °l8st] FYh

2
[ ]x45 =35 %05

17 10 17




39 : 59

 ——
o
0
o
)
— B
8
o 00
| =
= o@
Xool
® 5 o
T
~—~ X o0
2035
L o
< I
I_I

@x (1
@hx 1.18
= h:0




ZE3E A AA7E7: 39 HIE Lol ZHAE Y
o 1671 o @ol 7HAA S Slsy . F Aol 2E3& 22 e
ZHA A E AR FpAE EHEeA] EEHA L,

B A

‘g2-9t AA7} 713 G H7bT:3
olm& 497} 71 S 7x[ ]

shd, A7 7H 288 S 3x [ oIt
397t AXETH 16 7l o Be] 7HieBnm
7x[_]-3x[ |=4x[ |=16,[ |=4
2299 $E B
Tx4+3x4=28+12=40(7l)°]ct.

wreba] = Abgo] 23S 22 54 71w
40 +2 =20(71) & 7HA9 H.

=
=

==L
=

O
%\]_'_
O~
\_‘}L]\_I,_

=
=




B407k 73 Qe B9 29 Fhol} AT ks £ 1t
2T FUT. FHolt T Gl £ 259 F AT e Eol
10500 el 2, TAol7k A 1 gl E Akl

=¥ 2

> ®E 200009

FTHot M B2 o E WA oha 3t 25Ut
SA0]7F 71 Ex(1 - 0.25) = 10500
S Yo7t 71 E= 14000( )

Fgol7} 71l £ olgste] Agolst 7h £ o o
St 2y,
gl £ ]9

10:7=[_]: 14000, [ ]= 20000




st 684 A 7he AAZE g e g, oo 47 12
2 trgo] it 49 ¥ 2.8 94 B7lo] of A7} A7l
Az @A B R 2ol AgUrN

2325 8=238E 15%
QM 9A-23 B 15%=9H 8A| 362 45%




Fat A dlFH o] ghol 49000 YAt

59 e 2 o] Tk gt S ArhE
FoHAS.
> g

> HEbr 140009

~&B

B e x—

o Agl - T A
5 o)
~ =35000(¢)

: 49000 x
7

—

— 54

N
1o

BEES

2
B89 fl=H: 49000 x == 14000(9)




ohe 2eld AA7 2R ol Axagel 2| Hozge
5 9

dych. Azt g e zbe o] Yool 27t 15 cm? U w, 24

#2719 ) Wo| o] u5 714 7ot AHei4-o] ]z ek, A

7 A
B30] Yol & Foto] Az 242,

—

1

o

e
A

ol
[ V)

v V. v Vv
02
i

0
L

10 cm?




10. A% 6, @7 A&uh
(184+@): (244+@)=1:1,(184+@) : (24+ @) =4: 5L W, Gh=

Aupd Y72
> =
> Heh: 36

B

(18+@): (24+@)=1:1
18+@=24+0
@D=6+0

(184+ @) : (24+ @) =4 : 504
(18+@): (24+6+@)=4:5
(1I8+ @) x5=(30+O) x4
0+5x@P=120+4x0O

@ =30

@=6+30=136




